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Three sides of a triangle are 5 cm, 9 cm and x cm. The
minimum integral value of x is

faeft Brpor it e spomd 5 &, 9 AfY s x A d1 A x T
=IAGH IO AT TAqTEA?

(a) 2
(b) 3
(c) 4
(d)6
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2 An exterior angle of a triangle is 115° and one of the
interior opposite angle is 45°. Then the other two

angles are

foreft faregst T ST FIOT 115° 3 3R U SAiaiE avqE

0T 45° FT 1 AT

AT ST HIOTT T ATT TATIT? rRa5°, 70
(b) 60°, 75°
(c) 45°, 90°

(d) 50°, 85°




3 If the circumradius of an equilateral triangle be 10
cm, then the
measure of its in-radius is
T fedt gweaTg e i Srg-Rear 10 e g a9
STt At A=At 1 Firfore
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4 The number of sides in two regular polygons are in
the ratio of 5 : 4. The difference between their
Interior angles of the polygon is 6°. Then the
number of sides are
QT TGS | ST hl H&IT3AT T STquTa 5:4 g1 TfQ
TGS o SATATCH HIOT T AT 6° 7, AT F{STTA it G&AT
AT HE? y (a) 15,

12 (b)

5,4

(c)
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5 In A ABC, AD is the internal bisector of angel A,
meeting the side BC atD. fBD=5cm,BC=7.5
cm, then AB : AC is

et A ABC &, AD FIT A T i {eh fgwTsre g 9T

=T BC 7Y fa=g
Dtl'fgl?'l‘clT%‘lqﬁ'BD=5cm,BC=75cm€r,a‘rAB
: AC gl
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g ABCD is a cyclic trapezium whose sides AD and B '
are parallel to
each other. If ZABC 72°, then the measure of the
£BCD is
T T GHAR AT 39 T g fraeht sied AD
9T BC 9919 8l i< 2 ABC = 72° aY « BCD #T ¥T9
T L2 (@)
1620
(b) 189
(C)
108°
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7 The length of two chords AB and AC of a circle are
8 cm and 6 cm and 2 BAC = 90°, then the radius of
circle is
QT S(aT AB 9T AC &t %15 8 cm T9T 6 cm g T
£ BAC = 90°, a9 g1 it F=3=ar I1q HL?

(a) 25
cm
b) 20

(
 Nom
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g A ABC is similar to A PQR. Length of AB is 18 cm
and length of the corresponding side PQ is 12 cm, if
area of triangle ABC is 324 sq cm, what is the area
of A PQR?

A ABC, A PQR % 9019 &1 AB #fit a1 18 §#t g, av

< IThT GG ST PQ i FvTs 12 9t 81 I A ABC

HT ATBA 324 T 9T 8,37 A PQR FT ATHFTAIGH!
m

- (b)144 sq
chn
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9 A ABC is right angled at B. BD is the altitude. AD is
8 cm and DC is 50 cm. What is the length of BD?
AABC, B auHa\u g, BDSuf S 1 AD 8 . i ¢
T DC 50 9.

#t 21 BD &t /€18 %7 94T 9T




1 If triangle ABC is right angled at B, AB = 30 and
£ACB 60°, then what is the value of AC?

O =ft frst ABC, B wx qwaior &, AB = 30 @97 2 AC B
= 60° g, a7 AC =T HTH FIT INIT?

Nt o)

VAL NE]
(c) 40
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1 If the length of the three sides of a triangle are 6 c,
1 8 cm and 10 cm, then the length of the median to its
greatest side is

et Breger &t i oo 6 |/, 8 At T 10 | av
ST T TSI AT T ATEAHT 6T A¥ATS, ATT Dl {orT

(a) 8

cm (b)

v 6 cm
(c)5
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In triangle ABC, AC = BC and £ABC = 50°, the S|de
BC is produced to D so that BC = CD then the value
of 2 BAD .
=rsr ABC § AC = BC T9T T ABC = 50°, 9T BC
A D TF TEEATATEI T IFKBC=CD gar
T BAD Td F<

(a)80
(b)6 0

c)50
N o0
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1 In atriangle ABC, OB and OC are the bisectors of i
g angles B and C respectively. 2 BAC = 60°. Then the

angle BOC will be -
ABC s # OB 3k OC F94r:: F107 B X HIr C %

f&sere 21 2 BAC = 600, Y a7 F19r BOC T 019 F4T

ST
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1 Let G be the centroid of the equilateral triangle ABC
4 of perimeter 24 cm. Then the length of AG is

24 §Ht aifer atr ABC q9aTg A7 7 75+ G g
AG FT TS TATZT?

B 0

e e wi

(a) 2v3 cm




1 The ratio of inradius and circumradius of an
equﬂateral triangle is:

ﬁwﬁwavﬂ'trﬁravraﬁarcr SR RSN L D)

AT AT T2

(d) 12:1
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= Which of the following is a true sih{@ME WORI <
aferfeaa § 9 19 91 97 981 87

(a) Two similar triangles are always congruent
< g e g Hat g 2

(b) Two similar triangles have equal areas
< AT AT FT &6 T T gIar gl

(c) Two triangle are similar if their
corresponding sides are proportional
I I FBrgett & ST e AqarE grar, F
T GA gl

(d) Two polygons are similar if. their
corresponding sides are proportional
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4 O is the center of a circle and AB is the tangent to it
touching at B. If OB = 3 cm and OA =5 cm, then the

measure of AB in cm is-

O T < T Fvx g < AB SUHT B 9T T8 T TET Ta¢F @7 2|

af¥ OB = 3 cm OA = 5 &%t &1t AB # &%t ¥ wra 77 27

(a)3
(b) 2
) 8
) 4
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The radius of two concentric circles are 9 cm and 1=

cm. If the chord of the greater circle be a tangent to
the smaller circle, then the length of that chord is-

T Hohval IO T AT 9 Gy qaT 15 a1 afe a2 9w
Ft ST, S 7 I T L@ g, T ST 6 T678 J0d
FL? )18
) 24
(c) 12
(d) 16

s

C._-l.-r"-. J
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f,_..,a

wo equal circles of radius 4 cm intersect each othek=
such that each passes through, centre of the other.

The length of the common chord is

4 Iseh f=T:k okys nks o"Uk ,d&nwiljs dks izfrPNsfnr
djrs gSa rFkk ,d&nwljs ds dsUnz Is xqtjrs gSaA
mHkfu"B thok dh yEckbZ Kkr djsa\

WAE]
) 4+/3

cm

(c) 2+/2
cm (d) 8




SSC GD 2023 (AW eIdl T HBTHH)

Two parallel chords are drawn in a circle of diamet&e

30 cm. The length of one chord is 24 cm and the
distance between the two chords is 21 cm. The

length of the other chord is

30 T AT AT I § GUETAC 14T gl IT< TH S(ar
T THTE 24 FHT TT A1 SraTR S A 21

ﬁﬁ@',ﬂ?{ﬂ'ﬁ'ﬁﬁﬂiﬁ'mmﬁ?i éa)m

~ (b) 18

cm
(c) 12
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~ If the radii of two circle be 6 cm and 3 cm and the %=

length the transverse common tangent be 8 cm,
then the distance between the two centers is —

T I FT it BT wwer: 6 A 9T 3 AT § A
IAAY T8t @ 1 TS 8 FHT g1 AT Shestl & A= T

AT HL?
Méwm
ch

(b) V140

cm
(c) V150
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~ Chords AB and CD of a circle intersect externally at="

P If AB =6 cm, CD =3 cm and PD = 5 cm, then the
length of PB is —

TF g0 FiT < (1918 AB TIT CD THF T I & dA18<
g P yfi==sfka st i afk AB=69,CD =3
T 79T PD = 5 §Ht § PB ST FY?

f,_..,a

(a) 5cm
(b) 7 cm
) 6 cm
)4 cm
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% |f two equal circles whose centres are O and O'

intersect each other at the point A and B, OO'=12 cm
and AB = 16 cm, then the radius of the circle is-

< g g1 s 375 O q97 O' §, THh-gaX & fag A &liX
B 9X ya=aifed #<q & 971 O0' = 12 a4+t 9T AB = 16

QT BT, T I T FA=AT ATA Fi?
Ma)mcm

(b) 8 cm
(c) 12 cm
(d) 14 cm




I
k .' O is the centre and arc ABC subtends an angle of 13

at O. AB is extended to P, then 2PBC is
OﬁwmﬁﬁaﬁrWABC%wq-{mooaﬁraﬁwaﬂm%
AB FT P 9 98T 4T, 99 2 PBC ATd H?

(a) 75°

b) 700
w) 65°

(d) 80°
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ST is a tangent to the circle at P and QR is a diametel="

of the circle. If £
RPT = 50°, then the value of 2SPQ is:

0 & favg P qX oqsl 1@T ST Tq9l i<l § 9T I F1 AT

QR 21 If< F7T RPT = 50° §,2SPQ FT |7 1T X ?

Ma) 400

(b) 600
(c) 80°
(d) 1000




Fm ')

such that ZAOB = 110°, then 2 APB is-

1109 %, 9 L AOB = ?

0 O % 9Tl I I I Tq9f 1@T0 PA T9T PB § If< 2AOB =

(a) 90°
/4 ) 700
(c) 60°
(d) 55°

=¥ |f PA and PB are two tangents to a circle with centre C




= @
¥ ‘O’ is the circumcentre of triangle ABC. If ZBAC = 50°
1 then £OBC is
=t ABC &7 aRa= O g1 I 2.BAC =500 ar 2OBC
=7?

(a) 100°

b) 130°
M@ 40°

(d) 50°
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length of the common chord is 12 cm. Then the

distance between centres is :

2T 9 forereht BT wwer: 10 9t a7 8 94T § T @I 0

FTI g 3T I I Sfiar it FvaTs 12 , AT ITH

ﬁ%ﬁ?iﬁ'?ﬁ'a’qﬁl Pwa) 13.3
(b) 15
(c) 10

(d)8

 Two circles of radii 10 cm and 8 cm intersect and the &

r
e

ol
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’ AB is a diameter of a circle having centre at O.P is a &

point the circumference of the If 2 POA = 120°, then
measure of 2 PBO is

AB T# 0 FT ATH &, fSraeT #ex O g1 P <7 it Fifgr ux

o+ fog gn afs 2 POA = 120° €, a7 2 PBO T |19 g

a) 75°

Pw) 60°
(c) 68°
(d) 700
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” In the given figure, O is the center of the circle. If 2 <*

4 POR = 130° then what is the value (in degree) of 2 S
and < Q respectively,

<1 TS Spfa #, O 91 F7T s 81 AT 2 POR =130° &, av

FHAA: £S TAT 2Q FT 7 (RHT H) FTE?
, (a) 65°,
1159

(b) 60°,
120°
(c)

600,1200
0
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Home work

In a circle with centre O, AB is a diameter and CD is a
chord which is equal to the radius OC. AC and BD are
extended in such a way that they intersect each other at a
point P, exterior to the circle. The measure of z APB is
et 9 T ¥ O g, AB =TH g 3T CD =Tashut g Siits OC
a7 F e 81 AC S BF T 30 T 98147 STarT @8 ey
% AT8< g1 APB T |TT T §INIT? (b) 450
(c) 60°
(d) 90°

A e I




